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H¥FAL:
g m =2, % o Fafafea & 9 7 S,
(i) m-2 (ii) 3m-5 (iii) 9—5m (iv) 3m* —2m—7 (v) 5;—4
LI 1:
(i) m—2 =2-2 [m=2 @A W]
=0
(ii) 3m=5 = 3x2-5 [m=2 3@ @]
=6-5=1
(iii) 9-5m=9-5x2 [m=2 &
=9-10= -1
(iv) 3m* —2m-7
= 3(2)" -2(2)-7 [m=2 TEAW]
=3x4-2x2-7
=12-4-7
=12-11=1
) 5?’"—4:&;-4 [m=2 T@ W]
=5-4=1
A 2:
afg p = -2, o FafafEa & 7@ 39 Sk
(i) 4p+7 (i) -3p’ +4p+7 (iii) 2p* =3p* +4p+7
FIm2:
(i) 4p+7 = 4(=2)+7 [p=-2 TEAW]
=-8+7 =-1
(ii) =3p’ +4p+17
= =3(=2) +4(-2)+7 [p=-2 TEAR]
= —3x4-8+7
= -12-8+7
==20+4+7 =-13
(iii) 2p'=3p  +4p+7
= -2(-2)' -3(=2) +4(-2)+7 [p=-2 T@AW]
= -2x{—E]—3x4—E+?
= 16-12-8+7
= -20+23 =3
HE 3:
Pufafeaaosl S oA FIe Fax=-18:
(i) 2x-7 (ii) —x+2 (iii) x* +2x+1 (iv) 2x" —x-2
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(i) 2x-7 = 2(-1)-7 [x=-1 T W]
=-2-7=-9
(ii) —x+2 = —(-1)+2 [x=-1 TE ]
=1+2=3
(iii) 42041 = (=1) +2(-1)+1 [x=-1 TEA W]
=1-2+1
=2-2=0
(iv) 2 —x-2=2(=1) =(=1)-2 [x=-1 TEAR]
=2x1+1-2
=2+1-2
=3-2=1
AT 4:
ﬂ%a=Zﬁﬁb=—iaﬁﬁﬁﬂﬁaﬂﬁﬂﬁﬂﬁﬂﬁa¢
(i) @ +b* (i) o +ab+b’ (iif) a -
£
(i) a*+b* = (2) +(-2) [a=2,b=-2 TEAR]
=4+4=8
(i) @’ +ab+b’
= (2) +(2)(-2)+(=2)° [a=2,b=-2 T@IW]
=4-4+4=4
(i) @’ -b"=(2) -(-2) [a=2,b=-2 TEAW]
=4-4=0
HIA 5
U a = 0 3R b = —1 &, Ot foU gu owe! & o 1 Fifere:
(i) 2a+2b (i) 2a°+b°+1
(iif) 2a’h+2ab’ +ab (iv) o' +ab+2
£ IW5:
(i) 2a+2b = 2(0)+2(-1) [a=0,b=-1 TR
=0-2=-2
(ii) 2% +b% +1 = 2{0) +(=1)" +1 [a=0,b=-1 TEIR]

=2x0+1+1=0+2=2

(i)  2a’h+2ab’ +ab = 2(0) (=1)+2(0)(=1)" +(0)(=1) [a=0,b=~1 TEAT]

=0+0+0=0

(iv) @ +ab+2 = (0) +(0)(=1)+2 [a=0,b=—-1 T@AWR]

=0+0+2=2
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(i) x+7+4(x-5) (i) 3(x+2)+5x-7
(i)  6x+5(x-2) (iv)  4(2x-1)+3x+11
#. 36
(i) x+T7+4(x-5) = x+T+4x-20 = x+4x+7-20
= 5x—13 = 5x2-13 [x=2 TEIR)
=10-13=-3
(ii) 3(x+2)+5x—7 = 3x+6+5x—7 = Ix+5x+6-7
=8x-1=8x2-1 [x=-1 TEA W]
=16-1=15
(iii) 6x+5(x=2) = 6x+5x—10 = 11x—10
=11%2-10 [x=—13E1 0¥
=22-10=12
(iv) 4(2x=1)+3x+11 = 8x—4+3x+11 = 8x+3x—4+11
= x+7 =11x2+7 [x=-1 TEAER]
=224+7=29
HEA7:
1 Teh! Bt T PO U1 §7% 0 I BN, e x = 3,a= -1 3R b= 2%
(i) 3r—5-x+9 ([i) 2-8x+d4x+4
(iii)  3a+5-8a+l (iv) 10-3b-4-5b
(v) 2a-2b-4-5+a
EIWT:
(i) Ir=5-x4+9 = Ix—=x-5+9 = 2x+4
= 2x3+4 [x=3 TEAWR]
=6+4=10
(ii) 2-Bx+4x+4 = Bx+4x+2+4 = 4x+6
= —4x3+6 [x=3 AT
= —12+6=-12
(iii) Ja+5-8a+1=3a-8a+5+1 = -S5a+6
==5(-1)+6 [a=-1 T W]
=5+6=11
(iv) 10-3b-4-5b = —3b—5b+10-4 = —8b+6
=-8(-2)+6 [b=-2 WA W]
=16+ 6=22
(v) 2a-2b-4-5+a =2a+a-2b-4-5
= 3a-2b-9 = 3(-1)-2(-2)-9 [a=-1, b=-2 TEAR]
= -344-9 = -8
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(i) Tfe z = 108, @ 2° — 3(z — 10) T HH T ST
(i) & p=-108 @ p? - 2p — 100 T 7 T4 Sifeg|

£.I 8:
(i) ' =3(z-10) = (10)' -3(10-10) [2=10 &G
=1000-3 x0=1000-0
= 1000
(ii) P’ =2p=100 = (-10)" =2(=10)-100 [p=-10 T@A W]
= 100+20-100 =20
M9

e v =0 W 2% + x—a BIHF 5 & T €, 91 a BT A 01 5141 Tifew?
g3

feme: 27 +x-a=5

= 2(0)' +0-a=5 [x=0 & W]
= 0+0—-a=>5

= a=-5

3, a FTHAF —5 T 18T

AR 10:
D 2(a’ +ab)+3—ab BT BHY R THS A J1d S, 56 a=5 b = -3 8|

£ 10:
fear &: 2{5;’ +ab)+3=—~ab
= 2a’ +2ab+3-ab
2a’ +2ab—ab+3
2a’ +ab+3
2(5)" +(5)(-3)+3 [a=5, b=-3 T W]
2x25-15+3

50-15+3
38
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